Honors Chemistry

Model of the Atom

Guided Questions 1
Electron Configuration
Watch the videos with your Periodic Table right next to you
1. What does electronegativity measure?
2. As we travel across a period (from sodium to chlorine), what happens to the electronegativity of an atom?
3. When metals and non-metals bond, who gives up the electrons?
i. Who gains the electrons?
4. As we travel down a group (from beryllium to radon), what happens to the electronegativity of an atom?
5. Write the electron configuration for Li here:
a. Considering there are protons in the nucleus and electron surrounding the nucleus, that effect or force do you think might occur between the nucleus and the electrons?
b. What do the 1s electrons to the attractive force between the nucleus and the 2s electron in Li?

6. Explain how beryllium is more electronegative than lithium.  Translate this to sodium and magnesium.

7. Explain why “shielding” increases down a group.  How will this affect the electronegativity of nitrogen-phosphorous-arsenic?

8. An atom with a large electronegativity bonds with an atom with a very small electronegativity.  Explain which atom will gain an electron(s).

9. What is an ionic bond?

a. Based on electronegativity values, find another chemical bond that is ionic.

10. We saw during combustion reactions, oxygen is a diatomic molecule.  Explain why diatomic oxygen would be considered a non-polar covalent bond.

11. Explain how polar covalent and ionic bonds are different from each other.
12. How do polar bonds result in a positive end and a negative end?
